



$$(-2)^5$$

$$\left(\frac{-3}{5}\right)^2$$

$$(0.3)^3$$

$$(-13)^0$$

$$(5)^{-4}$$

$$(3)^{-1}$$

$$(-5)^{-2}$$

$$\left(\frac{-1}{2}\right)^4$$

$$(4)^{-3}$$

$$\left(\frac{4}{3}\right)^{-2}$$

$$(-2)^5$$

$$(2)^3 - (3)^2$$

$$(x)^6 = 64$$

$$x = \underline{\hspace{2cm}}$$

$$(5)^x = 125$$

$$x = \underline{\hspace{2cm}}$$

$$(x)^4 = 625$$

$$x = \underline{\hspace{2cm}}$$

$$(4)^x = 1024$$

$$x = \underline{\hspace{2cm}}$$

$$(-6)^x = -216$$

$$x = \underline{\hspace{2cm}}$$

$$(2)^{-2} + (-3)^2 - 6^3$$

$\underline{\hspace{2cm}}$

$$(9)^{-2} + (-3)^{-3}$$

$\underline{\hspace{2cm}}$

$$(-8)^3 - (-4)^5$$

$\underline{\hspace{2cm}}$

$$(8)^2 + (-31)^0$$

$\underline{\hspace{2cm}}$